il

g
=
s
i

1. ¥¥4
¥4 HEIR T R G R A BB SE S
JBA T gk LR EI /RS 1 4 240
Cherainl ) || EE ST R O OE )

2. EBEAR

1) FEF4 FORA ) ERE AT E R EEAR
2) BT 365 H H &f1 64 447 1H

£ Sf T4 3H3LA

3) &FEtHM
AT, TPPIS T, Amain) [ EREFBETE IS I 2365 2 BB ERUE
HEZIT) ZLICKVIRE AR L, UREEATO MR EE RN b &
HHE T %5 Th D,

4) HBPE
ARSI 12 7 ]

L [ LAGEE



i
I
St
%lljll
I

¥4 | B SRR E B E FRFHRE R RS
H H EEAE
THH - T - fER] B fr ¥ & 4 % OB ORR
[EREINGE = 1 28, 662, 000
[EEC YN 2y 1 28, 662, 000
R EHE AR E B 52V 1 28,662, 000 | FREHFEFEEIFLEL
12 7 A
[R5 S =4 52V 1 5, 437, 803
[ERES S 52V 1 5, 437, 803
e 2, 1 1,032,912 | MR
1 =
P i =y X 1 4,299, 867 | JRE AT E@E
1 A
S5 B B SRy X 1 105, 024 | ¥5%H B B ECEHRE
1 A
B (Z Ot mER <) X 1 34, 099, 803
Z DA = 1 9, 553, 044
— I A = 1 23, 497, 153
EHATRE = 1 67, 150, 000

-1- E sz TR R



